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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2015

Subject Name : Fundamentals of Structure and Mechanical Engineering
Subject Code : 2TEO1IFSM1 Branch : Diploma(All)

Semester : 1 Date :07/12/2015 Time :10.30 to 1:30 Marks : 70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:

a) The diesel engine is also known as .......... engines.
(@) Compression ignition (b) Spark ignition

b) In a first angle projection method, the Top View is drawn......... the Front View.
(@) Above (b) Below

c) Inawelding process the filler metal is known as .............
(@) Spelter (b) Welding Gun (c) Torch  (d) electrode

d) Arc welding processisa............ welding process.
(@) Pressure (b) non pressure

e) Copper- Zinc alloy is known as...............
(a) Brass (b) Bronze

f) Inapetrol engine .......... is used to ignite the charge.
(@) Spark plug (b) injector

g) Which of the following is a boiler Accessories?
(@) Blow off cock (b) Fusible plug (c) Safety valve (d) Economiser

h) A closed vessel made of steel and used for the generation of steam is called a....
(@) Steam turbine (b) condenser (c) Steam boiler (d) injector

i) Density is defined as a ratio of mass to the ...........
(@) Area (b) Volume (c) Length (d) Weight

Jj) Steelisa............ material.
(@) Ferrous (b) Non ferrous
k) Concreteisa............ material.

(@) Metallic (b) non metallic (c) Ferrous (d)Non ferrous
I) Copper- Tin alloy is known as...............

(a) Brass (b) Bronze
m) In pneumatic devices ............ is used as a working medium.
(@) Air (b) Water

n) Which one of the following is a power transmission device?
(@) dumpy level (b) Boiler (c) pump (d) Gears
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Attempt any four questions from Q-2 to Q-8
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Attempt all questions

State the factors to be considered while designing machine foundation and State
the causes of failure of machine foundation.

Explain the need of structural engineering in today’s era.

Attempt all questions
What is curing of concrete? Explain different methods of it.
Explain the procedure of temporary adjustment of level.

Attempt all questions

Explain Oxy acetylene gas welding with neat sketch and write down its advantages,
disadvantages.

Explain working principle of four stroke diesel engine with neat figure.

Attempt all questions

Explain the working principle of casting process and state its advantages,
disadvantages and applications.

State the difference between spark ignition engine (S.I.) and compression
ignition engine (C.1.).

Attempt all questions
State the name of boiler mountings and explain any two of them with neat sketch.
Explain the main parts of pneumatic system.

Attempt all questions

Define prime mover. Explain impulse turbine with neat sketch.
Sketch the centrifugal pump and state its advantages.

State the advantages and disadvantages of rope Drive.

Attempt all questions

Differentiate between : Map and Plan

Covert the below fore bearing into back bearing bearing:
(1) 190°40° (2) 310° (3) 118°

Explain indirect ranging with neat sketch.
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